5 €XO

‘ LOCATION:

OUTDOOR LIGHTING

4040 - Steel Wall/Pole Mounting Bracket

DATE:
TYPE: ‘ PROJECT:
CATALOG #:

FLOODLIGHTING ACCESSORY

FIXTURE YOKE
AND HARDWARE
SUPPLIED SEPARATELY

(2) ANCHOR BOLTS

Warning: DISCONNECT POWER BEFORE INSTALLATION OR MAINTENANCE

BY OTHERS

Mounting Notes:
1.

Assemble brackets (1) and (2) with screw (3), split
washer (4), screw (5), flat washer (6), slit washer (7)
and nut (8), as indicated above.

Secure wall bracket to the wall. Anchor bolts supplied
by others.

Install fixture yoke to bracket (2) per instructions
supplied with that bracket.

Loosen screws (5) and nut (8) and screws (3) only
enough to allow bracket (2) to rotate.

Aim luminaire, tighten screws (5) and nut (8) to 130
ft-lbs.

Securely tighten screws (3).

Shipping Package Contents:

4040 Bracket (1)

Hardware Kit (1):
3/4-10 Screw (1)
1/4-20 Screw (1)
3/4 Nut (1)
1/4 Split Washer (
3/4 Split Washer (
3/4 Flat Washer (1)

1)
1)

Material: Steel
Finish: Powder Paint
Weight: 2 Ibs

Current @

currentlighting.com/exo

© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change
without notice. All values are design or typical values when measured under laboratory conditions.

Page 1of1
Rev 07/27/22
4040




